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1. For each genotype below, indicate whether it is heterozygous (He) or homozygous (Ho)

AA Mo Be /e i He Mm e
Bb _He ff Ho I _He nm A9
Cc fHe GG _ffo kk Ho 00 Ao
Dd_ te- HH o Ll #e. Pp tHa

2. For each of the genotypes below determine what phenotypes would be possible.

Purple flowers are dominant to white Brown eyes are dominant to blue

PP ~ple. BB breown
Pp role Bb brawen
PP _ 4 At bb_bHlue
Round seeds are dominant to wrinkled Bobtails are recessive (to long tails)
RR /oonet TT _[ong
Rr ypern el Tt /mz
- IT W/"de“i zé-/.ecf ' tt 6@

3. For each phenotype below, list the genotypes (remember to use the letter of the dominant trait)

Straight pair is dominant to curly Tai\lgspikes are dominant to plain tails
straight s spikes
SS straight 5? spikes
¢g curly ss  plain
4. Set up the Punnet squares for each of the crosses listed below. Round seeds are dominant to wrinkled.
Rr x rr £ .
Y IQ What percentage of
C rer the offspring will be
r R . v round? _S& ,99
Rr x Rr Q i~
}Q ,€ £ ~ e What percentage of
£ ‘ - the offspring will be
{ r v round? 752 S

RR x Rr /e /Q

/ {3; f‘{f} / E l{@i{{’ What percentage of
: I £ the offspring will be
i f;i T e round? /s Ze
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